N = 0l & At & M A

BAH: ARS
M AR AMIEHI
F2 . FOXXAEH WASY Y HOYAIE X (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
ARS 275,787 248,747 27,040
ARS AE A 186,252 166,652 19,600
FOXXAE HWAS2E L HoAAIL X 116,992 99,392 17,600
FOUTXAMH 2 60, 196 60,596 N 400
201 et A | 19,196 55,596 N 36,400
01 AFR2t2l Yl 15,196 49,400 N 34,204
OdHE2g Litx==H| 4,000,000& 4,000
ORI+ 9,000,000& 9,000
OUEZQUNXME RLUBHAAY 862
183,000 128 2,196
02 53294l 3,000 5,196 N2,196
OFUXXHEH AR X 22l 3,000
-S Ot 01 XHX| Al E 1,000,000& 1,000
-4 2 F 0L XHX| Al E 1,000,000& 1,000
-Ot= =01 XHX| Al E 1,000,000& 1,000
03 AL H I 1,000 1,000 0
O3ZEY2IFEN 1,000,000& 1,000
301 dEtE A= 41,000 5,000 36,000
09 HAIAH EA = 5,000 5,000 0
OFOURAFARE A L LLRASH A3
100,000& *25H % 13| 2,500
OXMZAH FUNXN/ALS (HAM3S) gsHA
3| 100,000& *20H * 13| 2,000
O2te 3 2| 500,000& 500
11 IIEtE &2 36,000 0 36,000
O3 A= 36,000,000 36,000
FOIHOIAlE K& 40,796 38,796 2,000
201 et A | 28,696 28,696 0
01 AFR2t2l bl 2,196 0 2,196
OFAMBAUABHAAY S92 183,000&*12& 2,196
02 352494 26,500 28,696 N2,196
OXEK Xl (20H) 9,500,000& 9,500
OF AR X 22| 4| 4,000,000& 4,000
O8SxX HAHS 1,000,000& 1,000
O(ag,s0Ho5)2X3 2% 3322 S
4,000, 000& *3IH 2~ 12,000
203 ¥R =&H| 2,100 2,100 0
03 A =X R =XH| 2,100 2,100 0
OA2R2s SHYRAMFX 2,100,000& 2,100
401 AIEHIL 20| 10,000 8,000 2,000




2AH ARS
M A3 AHEZEH|
S9l: FOINAME HASY L BOAL XY (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 A& HI 10,000 8,000 2,000
OFOH HOYAIE E+=3 At 6,000,000 6,000
OFQdH AHAIE MELX S 4,000,000& 4,000
2017 AlQlstet SOtS M S 3 16,000 0 16,000
201 £B-2dH| 16,000 0 16,000
03 A2 S HI 16,000 0 16,000
OAlglste stitg M3l 16,000,000& 16,000
SclEtEas=2 62,260 62,260 0
SCIBEESsS24XE 62,260 62,260 0
301 et d = 62,260 62,260 0
05 SE -0 -2 62,260 62,260 0
Os&E=+ 200,000& x 178 123 40,800
OsddN= 200,000& x17H #23| 6,800
Os&3oaag 20,0003 x17H 123 #23| 8,160
Ot & sl 50,0003 x130H * 13| 6,500
QZHEUXA 7,000 5,000 2,000
o2tz M ALK 7,000 5,000 2,000
201 et 7,000 0 7,000
03 & Ar2 I 7,000 0 7,000
OHMe24gl 8l -2 -2 MU=l 7,000,000& 7,000
HYRIZH(L2R2S) 89,535 82,095 7,440
AH2IGHI(ARS) 31,715 31,715 0
NEAAB(ARS) 31,715 31,715 0
101 @124l 31,715 31,715 0
03 RIHAZ 22 31,715 31,715 0
OFAZeLEURY 31,715
-Jlg=s 1,167,750 18 « 128 14,013
-0 1,167,750 »1H x4 & 4,671
-Al 2+l ==&t 9,940 x 1 x22 Al 2t 12 2,625
-FY2RE 79,6003 x 1«22«12 1,911
= =g 53,0703 »1H «52= 2,760
-gsaSsY 53,070& x1H »102 531
- A gAY 80,000 x1H 123 960
-wEE A 60,000 x1H »12& 720
s 60,0003 x1H » 128 720
-ZH F Ot 1,167,750 23 x60% 1,402
-Jtat3 1,167,750 1 x12& »10% 1,402
J28H(A28) 57,820 50,380 7,440
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